PRONTO  PAR n DESCRIPTIO 804453
804544  |BIA-2HP15ABS-1 USE BIA-HP15ABS-1 FRAME
804601  |BIA-2HP15ABS-2 USE BIA-WP15A-1 HEX NUT M 8
804594  |BIA-2HP15ABS-3 USE BIA-WP10-36 RUBBER FEET
804642  |BIA-2HP15ABS-4 USE BIA-WP20ABS-30 HEX BOLT M8X35
804563  |BIA-2HP15ABS-5 USE BIA-HP15ABS-5 BOLT M8X16
BIA-2HP15ABS-6 USE BIA-HP15ABS-6 ENGINE
804564  |BIA-2HP15ABS-7 FLANGE BRACKET
804618  |BIA-2HP15ABS-8 USE BIA-WP15A-5 O RING 8X3
804550  |BIA-2HP15ABS-9 USE BIA-HP15ABS-16 BOLT M8X30
804546  |BIA-2HP15ABS-10 USE BIA-HP15ABS-11 MECHANICAL SEAL
804547  |BIA-2HP15ABS-11 USE BIA-HP15ABS-13 KEY 5X5X16
804647  |BIA-2HP15ABS-12 USE BIA-WP20ABS-9 WASHER
804537  |BIA-2HP15ABS-13 IMPELLER B
804538  |BIA-2HP15ABS-14 GUIDE VANE B ‘
804539  |BIA-2HP15ABS-15 IMPELLER A |
804549  |BIA-2HP15ABS-16 USE BIA-HP15ABS-15 GASKET
804540  |BIA-2HP15ABS-17 BOLT M8X50 |
804541  |BIA-2HP15ABS-18 GUIDE VANE A
804552  |BIA-2HP15ABS-19 USE BIA-HP15ABS-18 GASKET
804545  |BIA-2HP15ABS-20 USE BIA-HP15ABS-10 O RING 228.2X3.53
804542  |BIA-2HP15ABS-21 PUMP BODY
804588  |BIA-2HP15ABS-22 USE BIA-WP10-30 HEX BOLT M8X20
804629  |BIA-2HP15ABS-23 USE BIA-WP20ABS-15 O RING 25X4.2
804628  |BIA-2HP15ABS-24 USE BIA-WP20ABS-14 PLUG
804638  |BIA-2HP15ABS-25 USE BIA-WP20ABS-25 NON RETURN VALVE
804554  |BIA-2HP15ABS-26 USE BIA-HP15ABS-24 INLET
804606  |BIA-2HP15ABS-27 USE BIA-WP15A-17 GASKET
804608  |BIA-2HP15ABS-28 USE BIA-WP15A-19 PIPE
804607  |BIA-2HP15ABS-29 USE BIA-WP15A-18 SPANNER
804610  |BIA-2HP15ABS-30 USE BIA-WP15A-20 CLAMP
804615  |BIA-2HP15ABS-31 USE BIA-WP15A-25 STRAINER FITTING
804593  |BIA-2HP15ABS-32 USE BIA-WP10-35 STRAINER
804555  |BIA-2HP15ABS-33 USE BIA-HP15ABS-31 GASKET
804556  |BIA-2HP15ABS-34 USE BIA-HP15ABS-32 CAP
804557  |BIA-2HP15ABS-35 USE BIA-HP15ABS-33 GASKET
804558  |BIA-2HP15ABS-36 USE BIA-HP15ABS-34 BOLT M8X70
804559  |BIA-2HP15ABS-37 USE BIA-HP15ABS-35 OUTLET
804585  |BIA-2HP15ABS-38 USE BIA-WP10-28 CLAMP
804560  |BIA-2HP15ABS-39 USE BIA-HP15ABS-37 PIPE
804561  |BIA-2HP15ABS-40 USE BIA-HP15ABS-38 PIPE
804562  |BIA-2HP15ABS-41 USE BIA-HP15ABS-39 CAP




